of = X| =2t
[Successive substitution]



(Simple one-point iteration),
( Fixed point iteration) &2 % =










<Ol K[> A
f(x)

f(x) & x=e*JEHZ H3}

Xjp7= € X2 YE 5
7] 7FA O 2 x)=0 &
Ab-&-stof Hb= A4k

g 7}.}7}?1 0. 56714829
o] 717t FAHUS &
o]

.
T A

0
1
2
3
4
5
6
5
8
9

—
)

1.000000
0.367879
0.692201
0.500473
0.606244
0.545396
0.579612
0.560115
0.571143
0.564879










<FH>

X1 = 9(X))
X,=g(x,)

X, ~Xip1= 9(X)-9(x)

g’'(€) = {g(b)-g(@)} / (b-a) (< Ftak A=)

g(x,)-g(x) = (x,~x,) g'(€)
X Xjp1= (X,—X,-) g’(g)

E;= x,~x; 2}l &ul, E;, ;= 9’ (5)Eie

L 1g® | <1, =4




real x, £, gap, error
= 0.0
iter = 1
error = 0.00001
f = exp(-x)
gap = abs(x-f)
print =, ‘iter:',iter, ' x:', X
if{(gap.lt.error) then _ _ _
print =, ‘root:', x  |HHE
stop Toti | . 0

else

Xx = f

iter = iter+1
goto 100
endif

stop
end




